
   

  

APRIL 2020  50367/TAT6B 

Time : 1 2
1  hours Maximum : 75 marks 

SECTION A — (5 × 3 = 15 marks) 

Answer any FIVE questions, each in 30 words. 

1. What are carbohydrates? 

 Põº÷£õøím÷μmPÒ GßÓõÀ GßÚ? 

2. Explain the reaction of glucose with phenyl 
hydrazine.  

 SÐ÷Põì GÆÁõÖ ¤øÚÀ øímμ^Ýhß 

ÂøÚ£kQÓx Gß£øu ÂÍUSP. 

3. What are oligosaccharides? Give two examples.  

 J¼÷Põ\õUPøμkPÒ GßÓõÀ GßÚ? Cμsk 

GkzxUPõmk u¸P.  

4. What are amino acids? How are they related to 
protein? 

 Aª÷Úõ Aª»[PÒ GßÓõÀ GßÚ? AøÁ 

¦μu[PÐhß GÆÁõÖ öuõhº¦øh¯øÁ? 

5. Write the Biuret test for amino acids.  

 Aª÷Úõ Aª»zvØPõÚ ø£³μm ÂøÚø¯ GÊxP.  
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6. Write the source and deficiency disease of  
vitamin A.  

 øÁmhªß A GÁØÔÀ ªSv¯õP EÒÍx? Auß 

SøÓ£õmhõÀ Á¸® ÷|õ´PÒ GøÁ? 

7. What are alkaloids? Give two examples.  

 AÀP»õ´k GßÓõÀ GßÚ? Cμsk GkzxUPõmkPÒ 

u¸P.  

8. Write isoprene rule.  

 I÷\õ¨¤Ÿß Âvø¯ GÊxP.  

9. What is molecular rearrangement reactions? 

 ‰»UTÖ ©Ö^μø©¨¦ ÂøÚ GßÓõÀ GßÚ? 

10. What is para-Claisen rearrangement reaction? 

 £õμõ QøÍ]ß ©Ö ^μø©¨¦ ÂøÚø¯ GÊxP.  

11. Explain optical activity.  

 B¨iPÀ ö\¯À£õmøh ÂÍUSP. 

12. What are enantiomers? 

 GÚßi÷¯õ©ºPÒ GßÓõÀ GßÚ? 

SECTION B — (3 × 10 = 30 marks) 

Answer any THREE questions, in 200 words each.  

13. Discuss the structural composition of starch.  

 ìhõºa]ß ÁiÁ Aø©¨ø£ ÂÁ›.  
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14. How will you convert glucose into gluconic acid? 
 SÐ÷Põ]¼¸¢x GÆÁõÖ SÐU÷PõÛU Aª»® 

u¯õ›¨£õ´? 

15. Write short notes on isoelectric point in amino 
acids.  

 Aª÷Úõ Aª»[PÎß \©ªß¦ÒÎ £ØÔ ]Ö SÔ¨¦ 

ÁøμP.  

16. What are essential amino acids? Name two of 
them and write their structure.  

 Azv¯õÁ]¯ Aª÷Úõ Aª»[PÒ GøÁ? AÁØÖÒ 

Cμsiß ö£¯º ©ØÖ® ÁiÁzøu GÊxP.  

17. Discuss the classification of alkaloids.  
 AÀP»õ´iß ÁøP¨£õmøh ÂÍUSP. 

18. Discuss claisen rearrangement with mechanism.  
 QøÍ]ß ©Ö^μø©¨¦ ÂøÚø¯ GÊv, Auß 

ÁÈ•øÓPøÍ ÂÍUSP. 

19. What is meant by resolution of racemic mixture? 
Explain any one of the method.  

 öμ]ªU P»øÁø¯ GÆÁõÖ ¤›UP»õ®? H÷uÝ® J¸ 

•øÓø¯ ÂÍUSP. 

SECTION C — (2 × 15 = 30 marks)   
Answer any TWO questions, in 500 words each.  

20. Elucidate the structure of glucose. Discuss its cylic 
structure.  

 SÐ÷Põ]ß ÁiÁzøu öuÎÄ£kzxP ©ØÖ® Auß 

ÁøÍ¯ Aø©¨ø£ GÊxP.  
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21. How will you elucidate the structure of  
vitamin ‘C’? Discuss its deficiency diseases.  

 øÁmhªß ‘]’ ß ÁiÁzøu öuÎÄ £kzv Auß 

SøÓ£õmhõÀ Á¸® ÷|õ´PøÍ ÂÍUSP. 

22. Write the structural elucidation of  -terpeniol 
confirm its structure by synthesis.  

 BÀ£õ&öhº¥Û¯õÀ ÁiÁ Aø©¨ø£ öuÎÄ£kzv 

Auß ÁiÁzøu öuõS¨¦ ÂøÚ°ß ‰»® EÖv 

ö\´P.  

23. Explain : 

 (a)  Benzil-Benzilic acid rearrangement  

 (b)  Beckmann rearrangement with mechanism.   

 RÌPsh ©Ö^μø©¨¦ ÂøÚPøÍ Auß 

ÁÈ•øÓPÐhß ÂÍUSP. 

 (A) ö£ß]À&ö£ß]¼U Aª» ÂøÚ  

 (B) ö£U÷©ß ÂøÚ.  

24. (a) What is Walden invertion? 

 (b) Explain with example on Geometrical 
isomerism. 

 (A) ÁõÀhß CßöÁºåß GßÓõÀ GßÚ? 

 (B) ÁiÁ ©õØÔ¯zøu¨£ØÔ Euõμnzxhß 

ÂÍUSP.  

––––––––––– 


